Exam Review.notebook January 16, 2020

A\’\/“\W\Q‘H( C)ﬁcvwzj(f\c .

= C- }(_i

b L :
{‘h = Q+ (ﬂf\)é = er“_‘

0\ y\n- = (“’ (K

3‘.\: E“aa ( m\\ Sf\ QE

dn = L&C\“L\\
9




Exam Review.notebook

Xces v 321\;&'\02

n-\
© o-=30000 = ar
{b S 00 A58 6l -
0= 40000
r=7 1INy ... =
\,\3 = g
{_\KO—_[ = \OO(\.\b—O

=7

January 16, 2020

QQOO/O(Q-‘
Goces

S



Exam Review.notebook January 16, 2020

32( QS & S@c\wr\m

® =105 b as (o))

d- 20 J\l° _ \oﬁi\r(b‘\)éo)
L-"

L= 15+ S90)
J((o: ‘G;:) \’L\’SQ

{ 6 :‘%55



Exam Review.notebook January 16, 2020

®ries Sectum\co
@q__gx?) ) C\c)c\e\:a: \S
QN :?)\5 B} {hzo\(n"
_ -\
- ba- B0
O 38055 &y 5= ale"LD
\S X5 (|
A= D - \6(5 _\\
\ n-|
X% . 4%85 o
7=n-\
L% =N ‘Z Sq: 600\




Exam Review.notebook January 16, 2020

Ser\es + &({Wﬂ&:

@ c) \‘m __‘_:__an—q = ‘_?_
N>00 2)"\'4*6 >

\)) \\'V\ “q(:\ = G
N> N4 |

S T L LR W

N200 N+




Exam Review.notebook

&(\es + geclwz/rxca

6
O « Z,\a_\ = 0+ 343+ \15+34 +35

N-\
- %6
Sn= &
/AZ(C)() \-¢
1 = i
\t\gm\l‘k 3/4"“\? ¢ S‘\_ V-5
a=95 S
c-) Ry
Sr\= 5 %‘
Sa = 904
S I R P O S R
osl o Fid a 0 e S g
Cj?s& *n: os (‘\‘Dé San= —“—(G‘* L:>
' &5 - (D)3 °
S = ﬂ(\ 4—%"?))
§H_‘—‘ ?l(ﬂfs;\> o 9
5 Si = f\g
PRENE)

dy Sg=0-b%l6. .

o= 9 Sn‘— O‘\Eﬁ

r="3 -l
-3-1

Se = (e
4

January 16, 2020



Exam Review.notebook January 16, 2020

%‘\es N %‘1“‘2(@ . E\\t;\\;\&\_ﬁ "o tﬁ

é.\v'\é\-ﬂ‘)
- Yoo
]c?D: OA’%-‘ *'\:QV oaf Q(3) - 5
) Y
j(_:::o\() 1= O = C\o\: 5
S’:CD\\'B L\OS"-O\(Q, T5=( o\~ §_

G\

Eﬂ‘— i(‘b)“—\ o J\n:ﬂ
1 4



Exam Review.notebook January 16, 2020

E\;m;!\c\le “a“ LJ
@ "vj:\c\ ‘ So = \30 60\‘0\‘(0&:&'\\3
‘tn-—owc(n-\\é S, - f_\_(_aa x(n—m\l 130 = \Oa. + GOA
jl o C\'DA " ‘*\A?)O: \OO\—\%SA
v _10atloM| @ =154
L =ax Qd \Sw ’5& » \ s 1S

1A = o+ Sw= S(QG"O‘B @

(S0 ™ \00\""&(53 find &

120 = 10a+4SY 14= a6
\0\—_ At C:(u‘)

- =
\4=o

THTN3, ]



Exam Review.notebook January 16, 2020

Ll‘m A‘S

N 0\

© o lm m -m(@‘{}

x0T (-1 (Ixea 4 4)

\im X+9q - \6 -
N O CTYTY %L\>

\‘ bﬁef/??@#\):

"
X1

by e lo-x° o Dt Qe es

xod x-Nxald o — Wd 431
B ’\‘\f\cm\\c:\\ ;b, X 3 Qﬂ_

(L-x) M4+ x)

\hion L

4 (-2 D)
> S

N C = (Y _
>4 uw@éﬁg

)




Exam Review.notebook

Lieiks
O A \im (Q*}\O;“ﬂ;
a>b a-\
lm (ol 42 (adl-3)
b @-%)
\\m m’%gj b
& lim g*\ \

X0 X +3x +3 0

e) \\m C\—- Xu
X500 (5%9 B)
(1%

= \\N\ q_x

Y
- X
= bim ’:f‘ x*
KO0 4 2
Ax - 0Ox +Y

o gpros ctw\j b_

January 16, 2020

10



Exam Review.notebook

Ll‘m J‘ S
® 5 \‘ff W;‘% - J%/é(’%) CO. 5(x49)
20 é(’a-e 5»5(5 (,g*g)\
7YY
\‘\"\ S - 1)
%20 X(Xtﬁ) §) ()&&S»
=
X0 Sy (x4 5)
\vm _i_ - ~ |

WD Sy T S(9) 1S

lam m

S _ | N\
ob W) @es) 4s°

3}
Nl %1—(3,&\\ — Sum of cukes

hs-4 h+ Y
e [GM)(4 -6 +(afh)°]
-4 WY

i O30 O
Wy Q)

- Y4444

January 16, 2020

11



Exam Review.notebook

January 16, 2020

-oXx S, f 1ex<3
3 ¥ X>73
5O ! S9xAD e
X A.\:l X419 x4
o |\ \ o | \ o | | o3 |3
Q; 3 2 |- 4 15
-\ \ ) -5 d “:?b)
. 6l
D\‘)
we &S‘r‘c\\m \S
o N v inwous

12



Exam Review.notebook January 16, 2020

Deewachves
S‘<X3 = \\m g(x_&\_\\/ 52(5
o T

O SI=5g O ) dxh-s

s )
A i G - S Kk
@ 5N \r\:z) W (§xahs +S>E>

5‘(34) -\im X’c‘\*%@%\
"0 WIS 4@}

§') = \im )SJr\'\»‘f) =Y
W0 h(m51§(-—-3>
S‘(¥) = \\m )’(
hoo (IS 1555)

S|(>‘\) = ),
x-S

13



Exam Review.notebook January 16, 2020

D ( \m\‘\;ﬁs
O b $6D: 3O+ 5("*\'\) = Ax ”\’\'S = 5("*\'\)*'\
30NN - HxDh + |

= A% AW - Sy - )
560 - Vv ’z&{#o\\\ r%h“-%{.g\\_{(_&ﬂ@ A

oo W
') = \im X 43 -9
W0 I

§'( = \W\ K(GX\—% 5\

o o)

14



Exam Review.notebook

Dr.wasf\;'ﬁs
D o) F0= 3x>+5x-d

() S(X): i
\I%
S(x) = ?)X—Va
' 3
5= 2% °
9

S §6)=AxT v
va

S(x) = éxw X

. v
S &) = DX+ ,\Sx/

§6)= 3¢+
A

& $69= 3¢
5(50 = x%

,\?’
S$'6) = 2x :
S

§$6)- >
dx>

January 16, 2020

15



Exam Review.notebook January 16, 2020

D ( \VU\\'\;KS
@ Q) b: Q)X%~ &(4X +C)>
R’
%4 _ (e@s‘) 4 4(3x-9)
X

%7: B“\’(a-\-%x ~ \BXB —%

X
( 20,2 30 —8)
N

b) 3(@ = (9% ) Uxxl)

25N )
3‘(0 = @@D 4 % (X -Sx+)
3&0: D A% 30% )+ U DD
|3 >

16



Exam Review.notebook
D} ( \VU\\'\VﬁS

@ ) 360 - Bxi
3X-9

£ = HRCy) - FExD)

C%x %33
§6O= WOC-¥ - bx? -9

S
F"): (oxa—%x—o‘
Gx-2y
s = A%
IR T

3‘ - ,\a_X_‘/a (5+x33 - Bx(x\%
(?rrx));

\

VZ3
3‘ _ ?)—\-Zga S WECTIN &
=
S
3‘ = 3o - Yy
NP (BCY

January 16, 2020

17



Exam Review.notebook January 16, 2020
Defwahives
Q Y= <X3’5)t@ X=29
D Fiad y' Whd w0 Fmd e )
_ (aaf?))ﬁ y= (- D} 5— OO

(4 )g 3‘= ‘5(%3’531 (%) , &[q_ﬂ
3 > 5: \6)&(\333 i)‘ =3¢ P

W. 4- ,:w\(X—x\)
3‘5‘ - 356

U 6
Ty=3x-|
o t%ax—g~6320 ’

Qo $60- (ém\);

6= 9 ax«\}{aﬁxx\ A
S5 s

56)= 5@ . -3
O e

§'00)- - S(ax+\ _)q
TN

18



Exam Review.notebook

Decwhies

©w 560= 3G
$60= BEL-4) (1)
B'(@ - L&%x(5x%"‘\ij

January 16, 2020

19



Exam Review.notebook January 16, 2020

Derwvahes

Do §& = (am\

3%x-2  —9% -\

§0)- 5 ax*xim-\cam

(x-V)

§76) = 5.(QX1\\4 )
-0 (x-\Y

:
$' - 5 @Exsl)
o)

20



Exam Review.notebook January 16, 2020

Dr.wa‘ﬂ:fﬁs
D by Y= (x*1) (3x-2)
ds — 304 BB (R-DEANE)

d ox (Xg—\g(ﬁx—é\é + G (XD—\\3 & x%\
?’Z SN x|

%%Z - 6 8 3x )\Xx@) +/(§9?\>]

% b(v@—\)D Qm—a\(.“' SRR ‘\S\

)

I

21



Exam Review.notebook January 16, 2020

Cucve SQJ"C\\‘;\j‘.
® ?\0\‘ a\\ ?omJtS. X~lﬂt,3—iﬂjr) max,w\.\v\\I.?.\

@ /P\OJ‘ C&\\ mjme\“d‘fs (C‘N’CK \D‘z‘\o.v\'m.r NG Vh
@ ux ;V_\*ewa\s A wc/dec ond cov\cw;{‘j e connett

guer 5(\\\ “3

22



Exam Review.notebook January 16, 2020

Cotve Skek \\'mj

© SCX): Xq-5x3+?>x)— x

S(x) =X ( Xsf:))xa«—& - D
- ~—

.

63‘\\\\9}“‘( &bsk\J(\«jhm )

il an x,\ro\\ue J(L\o}( wokes $CD =0
SOHORCORE QR
SW = V-2

X=|
s=0 v g
@ M e A
'\ D \
X/ \ 2 |\ O
/
x CX"B(XQ—BX )
/ \
wga&? 51‘(::“0“\\0\\
§5()= x (xR ANCEN

F0) = % (x —\Sj

23



Exam Review.notebook

3
Sk S6d= X - ax 4 2ox
6= 2x- x4 26

$"G0): ox-4
Q b \‘f\\ (7\’-0)
Yy (O - BB )

® x-m}
2 >
0= x-WVx1px
0= x(xa—DM%)

0-x(x-€&)«® ‘3: ¥

(0,0)
X:=0 X '6 =0
x-0
C0,0) (6 |0)

@ Talaws of Ine /Dec
'Y= 2x -y 426

J6= 3R« 1)

§60= Ax-6Xx-D) J—J’—:~—L—i—>

L D (D e ™
0= SCX’QZ)(X ’3) N acces o (/00,})4'(6*1;

AV x=6 X=D mcweosfns oo (2.6)
® onax /evn .
rax @ X=3 o @ x=6

SC\DZ ){br\a\? 1 o% g("): )(3— \a’&fa—k 36X
56)- Gy @+ %E) | 0= @ S %D
=B A 41D §©)- 6 -4 +6
NOTIES) MNOES
C@\,sa) (Q‘O\

@ Ir\lf(\!a\s Jb Co\'\ca\n{bv-
$V60): Gx-24 10

$7G0y = 6(x ) zr;—féiﬁ

O-= G(X—L\B \J@\ ! (5)
, W on (roo,“b
Ve vy W on (4
® ’:\‘_t\g\g‘:\’\m?o;'\\ @ x=Y
6O = x3—\éx)x’i(ox
S = G- REY =M
Sy= Gy - 19 +\HY
SWy= o

January 16, 2020

24



Exam Review.notebook

January 16, 2020

25



Exam Review.notebook

Cucve S\qkkﬂ

Examine the function f(x) =3x" — 5% withrespect to...

. Intercepts  $(x)

. Symmetry

. Asymptotes (NO Qifw?‘\blﬁs &( \jmvf\\o\\ 5 U\'\A\d'\b
. Intervals of Increase or Decrease S'(g

. Local Maximum and Minimum values 5-(\0

o 5'6)concavity and Points of Inflection $60)

. Sketch the Curve

§00=-33-9¢ (-1 158 §"()=00c-20x
§0:-X3¢9) T2 T8 §60 - 2oxxX")

§100= &2 D)
0] X‘\'\\’ (D:O) 2] 3—.\'\\‘ (X:O\ S.Jmm;z\fj
$0)-X'BR-D 56)= 25
0=XE 50005 SO "‘5‘5’5"2
5 §0=0 SN=25-50)
X=0 |3¢-5:0 0,0) §60= 2+ o8
X=0 | -5 R
> 3 §6)= - (3)»«5»5& )
0o | 5%
-1g See §60= 50
fra Suenditn 1<
(> ,03 o4 A
*(VAY)
(€} Tt\\gwq S G(IN/‘[); Max ";I“

[T R O S e = o
. ERT
0=\ (X—\XX‘\\)

15¢-0| xA=0|xa\=0 sy m(_‘:a"\\)f'w\))
X= -\ ‘)chfecslr\c) of\k lQ\)q 0,

o\t 4D
V. x=-\0,\
® ox @x=-1 ® win@x=l
SO = 2¢- 53¢ IR =2x i— Sxi
$OY=2)-5) SO=x7-%)
D= 345 §=3-5
3= JO=-
(1,9 0,

0= G bt b

0= 3np)  Don edn @
30x =0] 3-1=0 O o (0D + (0,0

>

x=Q ax; \ Y o (on ® - (oq)m)
= L >

2D

X=*§
X=+070

t X=-01 ,0,80
@ Tx\s\nc\\aﬂ ?o;'(\s

S =& ox’

569 =26V -Hod - 0ol NS =12 (-07,1.9)
§O)-HeY-Se) = 0-0=0 (OO
V=256 054-115= -1 (0.7,1:3)

January 16, 2020

26



Exam Review.notebook

January 16, 2020

27



Exam Review.notebook

Cusve S\Qk‘c\r\u\j

Examine the function f(*) =

I-x
Intercepts 560

Symmetry

Asymptotes

Sketch the Curve

D st (3:0) @ gt (-0

Intervals of Increase or Decrease
Local Maximum and Minimum values
Concavity and Points of Inflection

'
* 7 withrespect to S(?): %

-y

§'0)= 3(1439)
Q-*Yy?

%mrﬂll{ 9 .

Sw= S<")=i v
[u) o Sm= x
o= $or- & \-x°
[ \-©Y B >
) 3= (A R
0=x $0- 0 -0 V- )
0=x S - X
(0'03 0, \-x?
Sna §-0- 560
e Suachon s §

@ ‘le(\xm\ ksbnp‘\f\( '.

(erces 4 dervreanch) © Horvond ‘\U"V\AQ

$6- _i
-
W, \-< =0

-X=0

- @ux:b
(el

@ qu\s GFIm/DQ,

§'0= Ox
Q-

=0 | (- x’Y: o)

*=0 \\-¢¥=0
=R
t‘ :x
[P x:-\,ol\

@m;n@xio

S(XS—__L
-
S@) = (QS =0
\-©OF
0,5

@ Takeuds & CN«Q\Jnj

500 = 3(1?)
Q _K})}

212)-0 (@ N

X )=0
=0 | | 2.0
'bxa: -1 \= X’a
I =y
Not Rassible
(NWNCG:"M .\'s a
pes rl'\uz\

® Tn{:\ac\' @ Pownls'

wWhan x=-\
o=
=X
Sth= ¢y
ey e

o
- — 4t
) -\ (0S) 0@ 1 D

Incfassmj on (6,2)

D&c(eo.sv\s o G °°,°3

e 1P
et =
D@ D
o on Cooy- D) + (e
Q) o E\,\\

when x=1
$09- N
\-x®

SO-= Ll_)a

= l =W
-0 A

January 16, 2020

28



Exam Review.notebook

January 16, 2020

a

&=
$6)<
QO —x)—( \+X)

how S(Y) = _@_ =00
o\ OO
(x=-1.1)
e §6O = @
Ko *1*7

i(x --04)

S 3= @) _ e

ol e @

o [
4 (X<03)
// (: \ien f(Y) :,Gl =-&
- woff O
' (&= N

29



Exam Review.notebook

F?e( ww\\‘aj‘ \'UV\S ~+ CC”"'\\D '\'\0‘} l.OV\S

binomial theorer You can use the binomial theorem to expand any power of a

* used to expand
(x+y).neN

+ each term has the 1
SL0A™*(y)s, where

k + 1is the term
number

binomial expression.

[X + y]ﬂ = HCD[X)H(_V]O I HCI[X]H—IU;]l I HCZ[X)n—z[ylz + .-
+ C _(x)'(y)"' + C (x)(y)"

In this chapter, all binomial expansions will be written in
descending order of the exponent of the first term in the binomial.

The following are some important observations about the

expansion of (x + y)", where x and y represent the terms of the
binomial and n € N:

* the expansion contains n + 1 terms

* the number of objects, k, selected in the combination C,
can be taken to match the number of factors of the second
variable selected; that is, it is the same as the exponent on the
second variable

* the general term, b has the form

LX) *(Y]’T‘

\the same

* the sum of the exponents in any term of the expansion is n
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